351 - 352

351/352 | S

1. Maximum operating pressure: 3.5 MPa

Impulse test: 0 to 3.5 MPa x 107 times Quick delivery of filters in ] with mineral oil use.
2. Model 351: Thread connection Please contact us on delivery time for others.
Model 352: Companion flange connection > MOde| COde
3. T connection and element removal is downward.
4. Please contact us for use of fluids other than mineral Fluid Type 351 Inner Filtration Option
oil on packing, O-rings and other parts. 352 Diameter Rating
: - Option
Max. differential
pressure of element | Indicator pressure (All red) | Relief valve opening pressure Code Fluid @®| 351 Rc thread Code| Inner Dia. Code | Filtration | Media Code | Magnet
Blank Mineral oil 352 |Companion flange | [A-03| Rc3g (10A) #| 8C | 3microns ) Blank None
0.7MPa 0.3MPa 0.35MPa F | Phosphate ester-based oil A-04| Rclip (15A) é 285% 285r;|icér%r;1ss C fiber M With
G | Water glycol-based oil B-06| Rc3 (20) * 10U | 10 microns —Cl 3o TReliet Vai
: - : B-08| Rcl (25A) * | 20U | 20microns | Paper (:(e € Iﬁonea ve
Companion Flange and Piping Connection A-10| Reily (32A) | %[ 40U | 40 microns v With
A-12| Rctlp (40A) 5UW 5 microns
T P A-16| Rc2 (50A) 10UW/| 10 microns Code Indicator Model
Uy 445X ;Bolt ®Model 351 : No taps for R Re2 ' (65A) 20UW| 20 microns Blank Blind plug -
h- (Indicator height) r L PO companion flange. A20 Rcs feoA) 40UW| 40microns | \yire | Visual 1A-3
Bak] 6 i N / A24| Ro 50UW| 50 microns | (sus) E Electic | EA-3
T Ty o m I\ 200W | 200 mesh Electric
ED o1 T | © . 150W | 150 mesh D (for micro capacity) | EA-3P
3 M-\ D Coding Example G-351-A-10-10U-1V T g e
- \\J T \“J/ 60W 60 mesh
¥ 3C: £3=200 ;\; Not to be used with water glycol-based oil.
. 8C : /8 = 200 Filter media used for water glycol-based oil
A Companion flange Companion flange seat for Model 352 25C: =200  differs from that for mineral oil.
2X2—d:Tap Depthl P (] daxl2
% | 18 | e » Spares
N ii:U— © Note: Model 352 only. 58 25 | M10x35
- ID “03”to “08”have 7 M
e O-ring groove on the body. 0 36 M1g><35 n
o j Tﬂ N 18142 gg M16i28 Element 351
—~ . Inner S .
N P —— | Fluid Type 352 — |Filtration Rating
) . . ;
M Part List Coding example: P-G-351-A-10-10U
/@ View A 15 |Companion flange SS400 2 For Model 352
14 Indicator 1 Option li
IN ¢ ouT 13 Nameplate 1 M Sea ing parts set ) e s
o E 12 O-ring NBR 1 JISB 2401. 1A @ For element replacement (Part No. with © in “O-ring”.)
Q == Q X
L 11 O-ring NBR 1 JISB 2401. 1B - 351 nrer
Jﬁ ’—E a # @m@ 10 O-ring NBR 1 JISB 2401. 1A SP Fluid Type 352
! < 9 O-ring NBR 1 JISB 2401. 1A . .
i A Coding example: SP-G-351-A-10
ods (9) — =~ 8 O-ring NBR 1 JISB 2401. 1A 9 P
K<L - ‘ﬁ/fﬁ B 6 Relief valve 1 Option
o< \@ ! &J ! 5 Drain plug SCM435 1 . For overhaul
4 Spring SWPA 1 1
@ S 8 | Element 1 SA—— | Fluid Type 322
w 2 Lower cover  |sTKM13A-ss400| 1 03~04 A6061 ) .
3 E );/@ 1 Body FC250 1 03~08 ADC12 Coding example: SA-G-351-A-10
[} .
2 . PartNo.| Part Name Material Qty Remarks
<:Ct’ frin) @
= M O-ring
c oD
GE) \@ art No.| © o (@) Gt > FIOW Rate Chart
] 8 9 10 11 12 P 9
w Model (Model 352) ) . .
03,04 |~sses| G25 | p-11 | P-18 | P-14 G-30 ® I1SO VG32 @ Viscosity: 32 cSt (40C)
06,08 | G90 | P36 | P-14 | P-18 | P-14 | G-40 . . . . . . . .
1012 | 75225 G50 | p1a | P18 | P14 | G55 Filtration Rating 10 Microns (10U) Filtration Rating 10 Microns (10U)
16 ASEes | G-60 | P-14 | P-18 | P-14 G-70 0.15 & 0.15 A e
20,24 |~S868 | G-90 | P18 | P-18 | P-14 G-100 04 y, 7
/
4 -
. . /
B Dimensions and Standard Flow Rates 04 / pd
Symbol El t Element Mass (kg) | Standard Flow Rat g V4 pd 2 g V4 e
—diX emen ndard Flow Rate s Y r s 4
Model d ALB PR 4ax@ b LY (RiowanceE | @ | & | T M T 0 e 35 (2/min) 5 yANRED e /4 A
35)-A-03| Rc3 17.8 25 & AL A adib=q S Y/ A PZa
1
31-A-04] ol 9 | 90 | 79 | 10 | 9 | M8X12 |13 | 23 100 oo | 7| 15| 64 842 1 |15 " £ oos A € oos / N i :2;,43”
351-B-06] Rc3y 27.7 85 g A1 L 8 = B
M10X15 1 . . s Y H £ o F]
351 B 08| Ror 112 | 112 | 924 | 12 | 15 207 | 28 00 s | ° 18 | 76 | 140 | 29 | 3.8 100 £ EES== & dx =amm al?
355-A-10| Rcily 432 155 0l== 0 === | [T1
BIAT2] Forls 130 | 130 | 110 | 15 | 17 | M10X13 | 286 | 38 100 291 9 18 | 92 |2042| 6.9 | 83 180 by 20 20 0 0 100 20 120 h 00 p 00 200 ps pows — 00 0 1000
351-A-16| Rc2 150 | 150 [1246| 20 | 22 | M12X16 | 349 | 45 150 611 | 11 | 24 | 105 [ 2542 11 | 13 360 Flow Rate (2/min) Flow Rate (2/min)
35,-A-20| Rc2'p 774 600
200 | 200 | 1652 | 35 M16X21 427 63 . 27
351-A24| Res 35 150 500 | 15 | 35 | 133 | 3045 33 60

21 22





